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R 1. EEREHB LV 1000 BfEH=-UD LR

=3 FL—=UJHIE DR IEE DOBIEE

exposure, h injury. n Incidence (Injury per 1000 h)

Total L Total R N/ Total N ey
ALTv 8265 960 7305 4 o 4 0.48 0.00 055
IR 9248 1296 7952 7 4 3 076 309 038
arvka—)L 8400 1590 6810 10 3 7 1.19 1.89 0.88

mean£8D (n: AL T= 30, FFR = 32, A FO—IL=30 )

2 GEREICEHTHAVRLE LY 95%1F

FEXE

p value OR 95% CI
LI/ (avba—L) 0067 031 008 - 1.13
F5Ra/(@vba—)L) 0312 0.56 0.18-1.74
TS5Ra/(ALTV) 0.379 1.82 0.47 - 699

p value: x “#&EIZ&%, RR:odds rates, Cl:confidence intervals

measure Category Pre test Post test Z‘r’:y’;‘l’:
SRR KB [ke] LIy 639+70  630%62 t
TF5Ra 650+79  638+83 t
avkA—L 682%81 66381 tt
PRBERA TRk %] ATy 146425  185+27 tt
T5Ra 152+19 13124 1t
avka—iL 15126 138+20 Tt
BMBx [ke/m?] LIy 216%13  213%12 t
T5Ra 221%13  216%14 tt
avka—L 225%18  218%17 tt
LBW [ke] ATy 54561 545+58
I52a 55.1£70  554%72
avkO—L 579470 57169
WE(2H) [kl LI 516+58  516£56
T5Ra 522467  524%69
avkO—)L 548+68  540+68
BE (Fh* [ke] LIy 128+1.7 12917
JI5Ra 130+20 13321 t
avkO—L  137%21 13821
S 5m 2712 bk [sec] ATy 103008  099+004
T3Ra 1062008  0.99+0.06 1t
avkO—)L 106007  102+006
10m RT1 bk [sec] LIy 1792011 1.73+009 t
TF5Ra 178010 1.71007 t
avkA—L 181010 176006
20m RFYbx [sec] AT 308+015 302012 t
I52a 304+013 296009 t
avkE—L 3112013 305010
5~10m XTY>k [sec) LIy 075+004  073+005
T5Ra 071+004 072004
avkA—L 0743006 073004
10~20m RFYUh [sec] ATy 1294006  1.28005
I52a 1262004  1.243003
avhO—JL 1302004 1.283004
¢z 33 TAF )T 1% [sec] AT 499027 471011 1
T3Ra 491015 468009 1t
avbE—)L  495+0.14  478%0.11 b
FRERRE—F HoTaoT 840 Lex [sec] LI 1912022 1.69%0.12 tt
TF5Ra 187013 172013 t
avhO—JL 1833012 1.733008
BEEHMISHTHEMR (+p <005, *xp < 001)
FEHROMN—ZUJHRICHETEEEE(Tp <005 tip < 001)



